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Z.CAS University
BEI3201 INVESTMENT AND PORTFOLIO MANAGEMENT
FINAL EXAMINATION
DATE: MONDAY 27" MAY 2024

TIMIC: 12:30-15:30 1TOIRS

TIME ALLOWED: THREE HOURS (plus 5 minutes to read through the paper)

INSTRUCTIONS:

I. Section A: this question is compulsory and must be attempted.

19

Sections B: Answer Three (3) questions from this section.

This question paper carries a total of 100 marks.

o

4. Candidates must not turn this page until the invigilator tells them to do so
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SECTION A: Question 1 is compulsory and must be attempted.

Qucslinn 1
Assume that you are cvaluating the performance of two portfolio managers. Jake and Kate and

you have gathered annual return data for the past decade as follows:

Manager Jake's Return (76) ~ Manager Kate’s Return (%)

Year
:.‘UIJ | s } )w ,,4,%

2013 13 | 5% ]
2014 1 - |
1:(}” | - 77(),()*77 — 1 43 ' o
12016 ] ’*"*A***ZIBV—77—7—777”/77 —— S—
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! 2018 ' | T .
12019 | s no
12020 - — 175 - ’ - 13.5
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(a)  Forcach manager. caleulate:

(2 marks)

i, The average annual return
(10 marks)

The standard deviation of returns
age return as the minimum acceptable return).

The semi-deviation of returns. (Use the aver.
(6 marks)

iil.

he average annual risk-free rate during the 10-year sample period was 1.5

rtfolio. Based on these computations, which man
(10 marks)

(b)  Assuming that t

culate the Sharpe ratio for each po ager

percent, cal

appears to have performed better?
(¢) Calculate the Sortino ratio for each portfolio, using the average risk-free rate as the
shold. Based on these computations, Which manager appears to

minimum acceptable return thre
(10 marks)

have performed better?

{ the Sharpe and Sortino measures o provide (1) the same

When would you CXpec

g, or (2) ditferent pertormat (2 marks)

(d)

pertormance rankin

1ee rankings 2 Laplain.

(Total: 40 marks)
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Required:

(1) Deseribe wivat i O fevidence available
esentbe what is meant by sk aversion and provide [wo () preces ol evidend
(5 marks)
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e acement
(h) EAPLm Two (2) measuies of tisk ol returms used m portiolio And ivestment nanag

o o o A 3 marks)
other than standard deviation or varianee ol returms (

| | | . 1y Cable Ple and
(©) Compute the covariance and correlation cocthcient for two stocks namely < bl

. R N\ S
Smart Bank Zambia whose monthiy returms tor a sis-month perodan S02b e as dollo

.
Month Cable PLC Smeart Bank Zambia

January 0.0 007

l

1\ I'ebruany 0.06 | 0.0
; NMarch -0.07 010
i April 0.12 0.15
May -0.02 -0.06
| 0.05 0.02

CJune |

Comment whether these two stocks would be a good choice for diversification.
<
(1O miarks)

Total (20 marks)
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Question 3

o e o 7Y aeneric ctrateics that investor
Passive and Active equity portfolio management are 130 (2) gen

in equity porttolio management.

Required

. | ot strategies pointing out
(@) Deseribe what is meant by passive and active portfolio management strategics p !

N ‘ | ) 5 marks).
the difference in their objectives. o )

‘ : . o ibutes are Three (3
() Fundamental analysis, Technical analysis, and Anomalics and Attributes are Three (5)

d in equity portfolio manazement.

(15 marks)

differentactive equity portfolio management strategies employe

Explain cach strategy.

(‘Fotal:20 marks)

Question 4

Asset valuation is an important step in investment management for investors. Investors seek 10

determine the intrinsic value of equity so that they can compare this value with the market value
of equity before thev make the investment decision. Assume that vou have a stock with a current

wat, over the long run, this company’s earnings and dividends

dividend of K1 ashare. Youbelieve t
will grow at 7 percent which implies that you expect the dividend next vear to be K1.07. IFor the
long run. you expect a nominal risk-free rate of about 6 percent and a risk premium for this stock

of 3 percent.

Required:

(a) Explain the two (2) most common methods used to value common stock. (4 marks)
(b)  Using information given above, calculate the required rate of return. (2 marks)
(b) Calculate the value of this stock using the Dividend Discount Model. (4 marks)
(d) Calculate the present value of equity using the Discounted Cashtlow Mcthod (DCH ) given

the following data:

Company XYZ has a projected cash flow of K100,000 for year 1, increasing by 0 P
’ g b creent

annually for the next Four (4) years. The terminal value is estimated 1o be K600.000 after the Fi
2 crhe Five
(5) -year period and the discount rate is 12 percent. (10
marks)
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Questioy 5
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o < the boar Aclors
‘ vestment analyst and have been |-¢qu\-\1cd {o wrile a paper for the board of director
of vour comp

any explain: \ : risk
iy e \plaining the concept of the required rate of return and risk.

Requireq:

(“) Eaplan hree (3) lactors that determine the required rate of returm on an mvestment.
(6 marks)
(b) Describe the following types of risks faced in investment management:
i Financial risk (3 marks)
i, Business risk (3 marks)
i Country (or Political risk) (3 marks)
iv. Liquidity risk (3 marks)
V. Lxchange rate risk. (2 marks)

(Total:20 marks)

END OF EXAMINATION
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